

p 10.1 $e^1 = e^{1.0}$
 (a) $C(t) = \frac{1}{4} \int_{-\frac{\pi}{2}t - \frac{\pi}{2}y}^{\frac{\pi}{2}t + \frac{\pi}{2}y} \int f(y,s) ds dy$ $C'(t) = \frac{1}{4} \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} f(y, t + \frac{\pi}{2}y) - f(y, t - \frac{\pi}{2}y) dy$ (d)

$$\int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} f(y, t - \frac{\pi}{2}y) dy \stackrel{f(a,b) = f(-a,b)}{=} \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} f(-y, t - \frac{\pi}{2}y) dy \stackrel{\substack{s = -y \\ ds = -dy}}{=} \int_{\frac{\pi}{2}}^{-\frac{\pi}{2}} f(s, t - \frac{\pi}{2} + s) ds$$

$$f(a,b) = f(a, b + \pi) \Rightarrow \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} f(y, t + \frac{\pi}{2}y) dy \Rightarrow C'(t) = 0 \Rightarrow C \text{ is constant.}$$

$$u(-\frac{\pi}{2}, t) = \frac{1}{4} \int_{-\frac{\pi}{2}t - \frac{\pi}{2}y}^{\frac{\pi}{2}t + \frac{\pi}{2}y} \int f(y,s) ds dy - \frac{1}{2} \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int f(y,s) ds dy + c = \frac{1}{4} - \frac{1}{2} + \frac{1}{4} = 0$$

$$u(\frac{\pi}{2}, t) = u(-\frac{\pi}{2}, t) = 0$$

u IS EVEN IN SPACE

$$f \text{ EVEN in } t \Rightarrow \int_{-t}^{t-x-y} f(y,s) ds = \int_{t-x-y}^{t-x+y} f(y,s) ds \Rightarrow u \text{ IS EVEN in TIME}$$

$$f \text{ EVEN in } x \Rightarrow \int_a^b \int_{t-x-y}^{t+x+y} f(y,s) ds dy = \int_a^b \int_{t-x-y}^{t+x+y} f_2(y, t+x+y) - f_2(y, t-x-y) dy = \int_{-b}^a \int_{t-x-y}^{t+x+y} f_2(\xi, \dots) - f_2(\xi, \dots) d\xi$$

$$= \int_{-b}^a \int_{t-x-y}^{t+x+y} f_2(y, t+x-y) - f_2(y, t+x+y) dy = \int_{-b}^a \int_{t-x-y}^{t+x+y} f(y,s) ds dy \quad (*)$$

$$u(-x, t) = \frac{1}{4} \int_{-\frac{\pi}{2}t-x-y}^{\frac{\pi}{2}t+x+y} \int f(y,s) ds dy - \frac{1}{2} \int_{-x}^x \int_{t-x-y}^{t+x+y} \int f(y,s) ds dy + c \stackrel{(*)}{=} \frac{1}{4} \int_{-\frac{\pi}{2}t-x-y}^{\frac{\pi}{2}t+x+y} \int f(y,s) ds dy + \frac{1}{2} \int_{-x}^x \int_{t-x-y}^{t+x+y} \int f(y,s) ds dy$$

$$= u(x, t) + \frac{1}{2} \int_{-\frac{\pi}{2}t-x-y}^{\frac{\pi}{2}t+x+y} \int f(y,s) ds dy + \frac{1}{2} \int_{-x}^x \int_{t-x-y}^{t+x+y} \int f(y,s) ds dy - \frac{1}{2} \int_{-x}^x \int_{t-x-y}^{t+x+y} \int f(y,s) ds dy \stackrel{(*)}{=} u(x, t)$$

$$= \frac{1}{2} \int_{-\frac{\pi}{2}t-x-y}^{\frac{\pi}{2}t+x+y} \int f(y,s) ds dy$$

$$\varphi(x,t) = \int_{-\frac{x}{2}}^{\frac{x}{2}} \int_{t-x-y}^{t+x+y} f(g,s) ds dg \quad \psi(x,t) = \int_x^{\frac{x}{2}} \int_{t-x-y}^{t+x+y} f(g,s) ds dg \quad (b)$$

$$V(x,t) = \frac{1}{4} \varphi(x,t) - \frac{1}{2} \psi(x,t) + C \quad C = \frac{1}{4} \int_{-\frac{x}{2}}^{\frac{x}{2}} \int_{t-\frac{x}{2}-y}^{t-\frac{x}{2}+y} f(g,s) ds dy = \frac{1}{4} \psi\left(\frac{x}{2}, t\right) = \frac{1}{4} \varphi\left(\frac{x}{2}, t\right)$$

$$\frac{d}{dz} \int_{a(z)}^{b(z)} h(\xi, z) d\xi = \int_{a(z)}^{b(z)} h'_z(\xi, z) d\xi + h(b(z), z) b'(z) - h(a(z), z) a'(z)$$

$$\frac{\partial \varphi}{\partial x} = \int_{-\frac{x}{2}}^{\frac{x}{2}} -f(y, t-x+y) - f(y, t+x-y) dy, \quad \frac{\partial \varphi}{\partial t} = \int_{-\frac{x}{2}}^{\frac{x}{2}} f(y, t-x+y) - f(y, t+x-y) dy,$$

$$\frac{\partial^2 \varphi}{\partial x^2} = \int_{-\frac{x}{2}}^{\frac{x}{2}} f'_2(y, t-x+y) - f'_2(y, t+x-y) dy, \quad \frac{\partial^2 \varphi}{\partial t^2} = \int_{-\frac{x}{2}}^{\frac{x}{2}} f'_2(y, t-x+y) - f'_2(y, t+x-y) dy,$$

$$\frac{\partial \varphi}{\partial x} = \int_x^{\frac{x}{2}} -f(y, t-x+y) - f(y, t+x-y) \underbrace{- f_2(x, t-x+x) + f_2(x, t+x-x)}_{=0} dy$$

$$\frac{\partial^2 \varphi}{\partial x^2} = \int_x^{\frac{x}{2}} f'_2(y, t-x+y) - f'_2(y, t+x-y) + \underbrace{f(x, t-x+x) + f(x, t+x-x)}_{=2f(x,t)} dy$$

$$\frac{\partial \varphi}{\partial t} = \int_x^{\frac{x}{2}} f(y, t-x+y) - f(y, t+x-y) dy \quad \frac{\partial^2 \varphi}{\partial t^2} = \int_x^{\frac{x}{2}} f'_2(y, t-x+y) - f'_2(y, t+x-y) dy$$

$$L_V = V_{tt} - V_{xx} = \frac{1}{4} \int_{-\frac{x}{2}}^{\frac{x}{2}} L - \frac{1}{2} \int_x^{\frac{x}{2}} L - \frac{1}{4} \int_{-\frac{x}{2}}^{\frac{x}{2}} L + \frac{1}{2} \int_x^{\frac{x}{2}} L + f(x,t) = f(x,t)$$

ASSUMING THAT

C = CONSTANT

$$\frac{\partial^2 \varphi}{\partial t \partial x} = \int_{-\frac{x}{2}}^{\frac{x}{2}} -f'_2(y, t-x+y) - f'_2(y, t+x-y) dy$$

$$\frac{\partial^2 \varphi}{\partial t \partial x} = \int_x^{\frac{x}{2}} -f'_2(y, t-x+y) - f'_2(y, t+x-y) dy$$



P.10.1 (b) $\int_a^b h ds - \int_c^d h ds = \int_a^c h ds + \int_c^d h ds = \int_a^d h ds + \int_a^b h ds$

• $|\Psi(x_1, t_1) - \Psi(x_1, t_2)| = \left| \int_{\frac{t_1}{2}}^{\frac{t_1}{2}} \int_{t_1-x+y}^{t_1+x-y} f(y, s) ds dy - \int_{\frac{t_2}{2}}^{\frac{t_2}{2}} \int_{t_2-x+y}^{t_2+x-y} f(y, s) ds dy \right|$
 $\leq \int_{\frac{t_1}{2}}^{\frac{t_1}{2}} \left| \int_{t_1-x-y}^{t_1+x-y} f(y, s) ds + \int_{t_2-x+y}^{t_2+x-y} f(y, s) ds \right| dy \leq \int_{\frac{t_1}{2}}^{\frac{t_1}{2}} |t_1 - t_2|^{1-\frac{1}{q}} \left(\int_{t_1-x-y}^{t_1+x-y} |f(y, s)|^q ds \right)^{\frac{1}{q}} dy$
 $+ \int_{\frac{t_2}{2}}^{\frac{t_2}{2}} |t_1 - t_2|^{1-\frac{1}{q}} \left(\int_{t_2-x+y}^{t_2+x-y} |f(y, s)|^q ds \right)^{\frac{1}{q}} dy$
 $\leq \pi |t_1 - t_2|^{1-\frac{1}{q}} \|f\|_{L^q(D)}$

• $|\Psi(x_1, t) - \Psi(x_2, t)| = \left| \int_{x_1}^{\frac{t}{2}} \int_{t-x_1+y}^{t-x_1+y} f(y, s) ds ds - \int_{x_2}^{\frac{t}{2}} \int_{t-x_2+y}^{t-x_2+y} f(y, s) ds ds \right| \leq$

$\leq \int_{x_1}^{x_2} \left| \int_{t-x_1+y}^{t-x_1+y} f(y, s) ds ds + \int_{x_2}^{\frac{t}{2}} \left| \int_{t-x_1+y}^{t-x_1+y} f(y, s) ds - \int_{t-x_2+y}^{t-x_2+y} f(y, s) ds \right| dy \right|$
 $= \int_{x_1}^{x_2} \int_{t-x_1+y}^{t-x_1+y} |f(y, s)| ds dy + \int_{x_2}^{\frac{t}{2}} \left| \int_{t-x_1+y}^{t-x_1+y} f(y, s) ds + \int_{t-x_2+y}^{t-x_2+y} f(y, s) ds \right| dy$
 $\leq |x_1 - x_2|^{1-\frac{1}{q}} \|f\|_{L^q}^{\frac{1}{q}} + |x_1 - x_2|^{1-\frac{1}{q}} \|f\|_{L^q}^{\frac{1}{q}}$

• $|\varphi(x_1, t_1) - \varphi(x_1, t_2)| = \left| \int_{-\frac{t_1}{2}}^{\frac{t_1}{2}} \int_{t_1-x-y}^{t_1+x-y} f(y, s) ds - \int_{-\frac{t_2}{2}}^{\frac{t_2}{2}} \int_{t_2-x-y}^{t_2+x-y} f(y, s) ds \right| \leq \int_{-\frac{t_1}{2}}^{\frac{t_1}{2}} \left| \int_{t_1-x-y}^{t_1+x-y} f(y, s) ds + \int_{-\frac{t_2}{2}}^{\frac{t_2}{2}} \int_{t_2-x-y}^{t_2+x-y} f(y, s) ds \right| dy$
 $\leq \pi \cdot |t_1 - t_2|^{1-\frac{1}{q}} \|f\|_{L^q}$

• $|\varphi(x_1, t) - \varphi(x_2, t)| \leq \dots \leq C |x_1 - x_2|^{1-\frac{1}{q}} \|f\|_{L^q}$

• $|m(x_1, t_1) - m(x_2, t_2)| \leq |m(x_1, t_1) - m(x_2, t_1)| + |m(x_2, t_1) - m(x_2, t_2)|$
 $\leq C_1 |x_1 - x_2|^2 + C_2 |t_1 - t_2|^2 \leq C \| (x_1, t_1) - (x_2, t_2) \|^2$

$\Rightarrow K: L^q \rightarrow C^{0, \alpha}$ ($q \in (1, \infty)$) / IF $f \in C^{0, \alpha} \Rightarrow \frac{\partial \varphi}{\partial x_i} \frac{\partial \varphi}{\partial t} \frac{\partial \varphi}{\partial x_1} \frac{\partial \varphi}{\partial t} \in C^{0, \alpha} \Rightarrow \forall \epsilon \in C^{1, \alpha}$
 $K \in L^q \rightarrow C^{0, \alpha}$ / IF $f \in C^{1, \alpha} \Rightarrow \frac{\partial^2 \varphi}{\partial x_i^2} \dots \frac{\partial^2 \varphi}{\partial t^2} \in C^{0, \alpha} \Rightarrow \forall \epsilon \in C^{2, \alpha}$